Page 1 of 3
1 June 2015

/7 C\MARKS

MEKT771

STEERING DAMPER RELOCATION KIT
10
HILUX, 4/RUNNER AND SURFWITH IFS

FITTING INSTRUCTIONS
Thank you for purchasing a product manufactured by Marks 4WD Adaptors.
This kit has been designed to relocate the steering damper from above to below the track
rod. The brackets have also been designed to allow the fitting of larger after-market
steering dampers.
1. Remove the steering damper.

2. Remove the damper chassis bracket from the chassis.

The following instruction suits 4-cylinder Hilux and 4/Runner.

3a. Fit the MFC772A bracket to the front of the track rod where the steering damper was
located. The 2 welded bosses face the rear of the vehicle with the small one at the top.
Secure it to the track rod using the 1/2" unc x 2" bolt (MFC785) and nylock nut
(MFC786). NOTE: The bolt must be fitted from the rear through the track rod and then
the bracket, do not tighten the bolt at this stage.

The following instruction suits the V6 4/Runner.

3b. Fit the MFC772A bracket to the front of the track rod where the steering damper was
located. The 2 welded bosses face the rear of the vehicle with the small one at the top.
NOTE: The small boss on the top of the bracket may need to be removed to allow the
bracket to fit flat against the track rod.

Secure it to the track rod using the 1/2" unc x 2" bolt (MFC785) and nylock nut
(MFC786). NOTE: The bolt must be fitted from the rear through the track rod and then
the bracket, do not tighten the bolt at this stage.

4. Fit the MFC772D saddle over the track rod from the rear, secure it to the damper
bracket using the 2 M8x1.25x25 counter sunk SHCS, 2 flat washers (MFC069), 2 spring
washers (MFC438) and 2 M8 nuts (MFC068).



5. Tighten the 1/2" nylock nut and the 2 M8 nuts.

This photo shows the bracket installed in a V6 4/Runner fitted with a Commodore V6.

6. Fit the steering damper to the track rod bracket from the front and secure it with the
original nylock nut.

Welded Bracket, Damper to Chassis

7. Fit the damper chassis bracket (MFC771) to the other end of the damper with the
folded side facing up. See photo below.

8. This new bracket is welded to the front wishbone-mounting bracket. NOTE: The
notched outside of the bracket fits over the raised section of the wishbone-mounting
bracket (part of chassis). It will run parallel to the chassis rail facing the front of the
vehicle and the steering damper will be parallel to the track rod. Remove all of the paint
from the area to be welded.



9. Tack weld the bracket to the chassis and remove the damper.

10. Complete the welding and allow it to cool before painting.
11. Refit the steering damper to the chassis bracket.

12. Double check all of the bolts are tight.



| TRACK ROD ‘

w

@H
L

[}
w

o=

o
o

No. PART DESCRIPTION
1 NUT M8%1.25
2 WASHER SPRING M8
3 WASHER FLAT M8X20
4 SADDLE, BRACKET TO TRACK ROD.
5 SOK HEAD C/SUNK M8X1.25%25 LONG.
6 BRACKET, DAMPER TO TRACK ROD.
7 NUT 1/2" UNC NYLOCK.
8 BOLT HEX HEAD 1/2"X2" UNC 8.8
9 STEERING DAMPER
10 CHASSIS BRACKET-STEERING DAMPER

The components supplied in the kit are designed for specific type conversions.
Modifications to any components without the written consent from Marks 4WD Adaptors
will void any possible warranty or return privileges. Should you have any further
questions that are not covered in the instruction sheet, please contact our sales department
for assistance. Remember an inexpensive phone call can save a costly mistake!

Proudly Manufactured by:
Marks 4WD Adaptors
385-393 Lower Dandenong Road, Dingley Vic. 3172
Tel: (03) 9552 6555, Fax: (03) 9551 8060,
E-Mail: sales@marks4wd.com
Catalogue: http://www.marksdwd.com/



mailto:marks4wd@ozemail.com.au
http://www.marks4wd.com/
http://www.marks4wd.com/
http://www.marks4wd.com/

